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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(iii)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

In Section B - Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

In Section E - Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying
1 mark each. 12x1=12

59/1/1

Choose the correct option to complete the sentence :

Mikhail Gorbachev was

(a)  General Secretary of the Communist Party of USSR
(b)  the founder of the Communist Party of Russia
(c) a leader of Western European countries

(d) aleader against reforms in the USSR
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TE faeheq IRt a1 QU HIfT

3R fem wh |
(a)  TSHIfdh AR o (b)  HTEHideh J=gIeH o1
()  EHIN ST=gra ol (d) e ST ol

frfeifaad o ® Sl9-Ht TeT =T ToNl ol Teh+ o1 HIH Hdl 8 ?
(a) EIh TS HHATERR AT

(b) T g YRl qig

(c)  ATRE™

(d) TR g

frafaRea o @ SH-a1 T dfvas qran & o @au 737 8 2
(a) T AT (e dUglg) (b) STAUSEE SAAHATG
(c)  wEmIRAl (d)  wedl HwEd

fafafga § 9 -8 S T & g1 § T8l 8 ?
() vl i fomamd Afvaes Toifa =1 377 3 |
(i) AR W UH qe 1992 H fR-El-smie § st ga o |

(iii) EYH TSCHE J AU HRISHAT 1 T FIH U HHATIRR TR

%! |y feam 2 |

(iv) gl XA SR TS §geh Usg g fehdll T T |

g faered T |
(@) (), (i), (iv) (b) (1), (i), (iv)
© @, (i), (ii) d)  Gi), (iid), (iv)

TR § & hIFH-91 Teoh dTSTehUl I T&I BRI 3 ?
(a) TIH USCHT hl TS

(b) T Senfireht =1 T

(¢ Toma o 1 Tam@

(d) 9RA TR F H refeawen &1 A=
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Choose the correct option to complete the sentence :

Arab Spring was a
(a) Political movement (b) Cultural movement

(¢) Social movement (d) Environmental movement

Which one of the following organisations works to prevent international
conflicts ?

(a)  United Nations Human Rights Commission
(b)  United Nations Security Council
(c0 ASEAN

(d) Amnesty International

Which one of the following is not a threat to global security ?
(a)  Global warming (b) International terrorism

(c) Epidemics (d)  Rising prices

Which of the following statements about environment are correct ?
(1) Environmental concerns are part of the global politics.
(ii)) A conference on environment was held in Rio-de-Janeiro in 1992.

(iii) The UN has assigned the environmental programmes to UN
Human Rights Commission.

(iv) The Earth Summit was organised by the United Nations.
Choose the correct option.

(@) (), (i), (iv) (b) (), (1), (iv)

(c) (1), (1), (iii) (d) (@1, (111), (iv)

Which one of the following is the main cause of Globalisation ?
(a)  The formation of United Nations

(b)  The development of new technology

(¢)  The establishment of the World Bank

(d)  The rise of economy in India and China
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HfaiRad foehedl § & WA o A < TSl arell 998 T
(a)  3T9H, A, SAETE

(b)  ®iT, Fqu, ArTeive

(c) SIEvs, -ﬂllléus, JTEUS

(d) @i, HEmree, iRy
8. A YU i & fou wEl feshen T -

TRA TR 3 G 13T i & fifq & =9 & SR |
(a) Treform fospra b) b sreferacen
(c)  HHISETG (d) ARt
9. 1974 T U 3T §SAT bl ATRM fopaa fopam o 2
(a)  STAYRT TR0 (b) S BASH
(¢) W HATE Al (d) HRRST <ETs

10. AT P FIAHATIR e HIfT
(i)  UTfehea™ o YHR T eyl gaufer O |
(i) G Fogeal THY-HIHR h1 SFX-TSH &1 |
(i) IS HHSA W ANET TR TSia et 7 g&daner fohu o |
(iv) S hTHI T qHi R off |

gt faehed T |
(a) (1), (i), (iii), (iv) (b)  (@v), (1), (i1), (ii1)
(c)  (v), (id), (1), (iii) (d) @), (), (iv), (i)

11. Tr=fafad & @ fopg ga@ @it 3 gduey wra § 31ifele gumi i esta i 2
(a)  sfqu el
(b)  Th TR
(c) TR To
(d) 3% AN TATA
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7. From the following options, choose the set of States that belong to
North-East India only.

(a)  Assam, Manipur, Chhattisgarh

(b)  Manipur, Tripura, Nagaland

(c) Jharkhand, Nagaland, Uttarakhand
(d) Manipur, Maharashtra, Mizoram

8. Choose the correct option to complete the sentence :

Five Year Plans were adopted by the Government of India as a policy of

(a) planned development (b)  mixed economy

(¢) socialism (d) industrialisation

9. Who gave a call for a nationwide Railway Strike in 1974 ?
(a) Jayaprakash Narayan (b)  George Fernandes
(c) Ram Manohar Lohia (d)  Morarji Desai

10. Arrange the following in the chronological order :
(1) Pakistan sent tribal infiltrators to Kashmir.
(ii))  Sheikh Abdullah became Prime Minister of Jammu and Kashmir.
(iii) The Punjab Accord was signed by Longowal and Rajiv Gandhi.

(iv) Jammu and Kashmir was a Princely State.

Choose the correct option.
(@) (@), (1), (i), (iv) (b)  Gv), @), (1), (i11)
() @v), (i), (), (i11) (d @G, @), Gv), (iii)

11. Who among the following was the first Prime Minster to start economic
reforms in India ?
(a)  Indira Gandhi
(b)  Rajiv Gandhi
(c) Manmohan Singh
(d) Inder Kumar Gujral
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Yo &I 12 % 1078, §1 B9 16T T & — [57H T &l 37fFpuq (A) T GR Bl

FRU (R) ZRT 37fd 1397 797 8 | 57 FI1 #1 &917 & 90 Ik 19 77 77 fasbeqr
(@), b), (c) IR (d) T @ 3T & &7 7 G&7 fdcq T |

12.

13.

14.

15.

16.

17.

18.
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STYHIT (A) : W3 1977 H, AT UEl hl TR = AR . H1. M8 & qcd §
Teh S AR ol s fokam |

HR (R) : AR 1 sfeq el SRR grn i SAUTdeRTd o ShRON <kl
Sir= o fote fgeh foharm T o |
(a)  ITYHI (A) 3 SR (R) ST T@l & 3 SR (R), AR (A) hI
g TS KT 7 |
(b)  SAfTHA (A) 3T HRU (R) GHI Tl &, T RV (R), AMHeT (A) H
& AT 77T ST § |

(c) AR (A) HaEl 8, =g SR (R) TAd & |

d) T (A) A 8, T SRV (R) T 7 |

GUE @
‘sTfeRm et 1 foheel Q Hew@yul fRINarsti sl ISR HIT | 2x1=2
fehegl gt 3qTEXvl ol TR ¥ TYH s hl Ik <l gT | 2x1=2
“qrar’ ug it e Hif | 2
w8 gl = &EfiT oo & 9m fafae, e fodl = 3 3t oot TR

S B | 4><é=2
Hed AN i foheal al T i IR IR | 2x1=2

YR H ugell fiefi-Seft sipr (Tedyd i wer) fha av o st R =i
=41 ? 1+1=2
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For Question number 12, two statements are given — one lavetlea as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (a), (b), (c) and (d) given below.

12. Assertion (A) : In May 1977, the Janata Party government appointed a
Commission of Inquiry headed by Justice J.C. Shah.

Reason (R): The Commission was appointed to inquire into the
reasons for declaring Emergency, by the Indira Gandhi

Government.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

SECTION B
13. Highlight any two important features of the ‘ASEAN way’. 2x1=2

14. Show with the help of any two examples, the strength of the United
Nations. 2x1=2

15. Explain the term ‘Security’. 2

16. Name any four regional parties which have ever formed their government

in any State. 4x é =2
17. Highlight any two recommendations of the Mandal Commission. 2x1=2

18. In which year was the first coalition government formed in India and
why ? 1+1=2

59/1/1 Page 9 of 23 P.T.O.



19.

20.

21.

22,

23.

24.
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Qs 1

GE® (UNICEF)’ 1 q01 €9 TfaU qe 36k i3 &l ¥ (o1iay |

3 Qeh STa X SPellhtul < U feheal g1 SwTal ol forgetwor ifrg |
STep{deh THTEHT o T < 1§ &l ST ST |

TRA-S90Id g9 b fopeal IR famiwarsti <l samen hifsu |

Tt g o foru gfen niiefl g 331U 71U forgl =R shedt ol ISR shIfST |

Qs ¥

ffcTiaa STaaiul sl eagds it iR e fgu 7T J94i o I T |

1+3=4

2x2=4

2x2=4

4x1=4

4x1=4

4x1=4

““ % WU gU g 7 WRA & Aaqrell Pl qai & Al earera feafa % ufd
gad foraT | STT-9eT Ua 3T Afaehibd B o fdith, I8 & WG *

Tne TS ST TR TSiifdeh Tehdl o T gt Seqa oL &1 o1 |7
() Tr=fafad § 9 ®HH-81 T3, q@RR 6 T 7@7 8 2

(a) IS o (b) UGS
(c) WA @
(i) F=fIied § ¥ SHE-A1 U9, IRA-H g & HRU T8 i Jurfad
7T ?
(a) 31&H (b)  HWTIAUE
(c)  3TEUTEA YII d) faform
(i) F=fIfegd § & SH-E1 TSF, YRA-IH g o qid 1¢ AR § Tied
feram T o 2
(a) ATIITS (b) ™
(c) TaformH (d) TS JW
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22,

23.

24.
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SECTION C

Write the full form of ‘UNICEF’ and state any two functions of it. 1+3=4
Analyse any two effects of globalisation on your daily life. 2x2=4
Suggest any two measures to conserve the natural resources. 2x2=4
Explain any four features of India-Israel relations. 4x1=4

Highlight any four steps taken by Indira Gandhi to remove poverty. 4x1=4

SECTION D

Read the following passage carefully and answer the questions that
follow : 4x1=4

“The war with China alerted the Indian leadership to the volatile
situation in the North-East region. Apart from being isolated and
extremely under-developed, this region also presented India with the

challenge of national integration and political unity.”

(1) Which one of the following States is not a North-Eastern State ?
(a)  Arunachal Pradesh (b) Uttarakhand
(c) Meghalaya (d) Tripura

(ii)  Which one of the following States was affected the most due to
Sino-Indian conflict ?
(a) Assam (b) Nagaland
(¢)  Arunachal Pradesh (d) Sikkim

(iii)  Which one of the following States was created in the North-East
just after the end of Indo-China War ?

(a) Nagaland (b) Assam
(c) Sikkim (d) Arunachal Pradesh
Page 11 of 23 P.T.O.
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(iv)

HH-AT TSHITTH g, YRA-IH g o qd 91¢ ATaR Ha¥g 8

R0 forarfed g ?
(a) T urdf
(b)  =HiUE uTef

(c) HHEIEe UTdl ATh gfea

(d) SHEY

HRA o [¢U 7T TSI [@I-AFEEE (I8 13 W) H IR TSAI/R5-[0ad &=
H @A), B, © a0 O - g’ Afehd Tz T B | = € T AHH o YR
W T TSAI/heg-IMd &1 <hl Uga hiforg SR 10t IT-gfedert § 3ioh Tal
I, JANT <l T8 THBR] shl ShH-T&AT 99T A § fean T Tefia 18), e

3 T8 arferent o ®9 § fafen
TN <hl 8 IHh/ | "Eres § fe
&1 SHH-TET T GEled 318 Ny & ™

1)
(i1)
(iii)

(iv)

1)

(i1)

(iii)

(iv)

I8 TT o8 gsd A= & 37e987, 1.1, HSd 1 gre-y o |

I8 TSI &l g FHTS qref 9 YA Ugelt YRR TS |
€ heg-SIMd & TSEehT 89 2019 | foram =T o |

g TSI F&l § gfag =7 HWH USHIfdeh el 1 367 g |
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(iv)

Which political party got split just after the Indo-China War due to

internal differences ?

(a)  Swatantra Party

(b)  Congress Party

(c) Communist Party of India

(d)  Jana Sangh

In the given political outline map of India (on page 15), four
States/Union Territories have been marked as @, , @ and @

Identify these States/Union Territories on the basis of the information

given below and write their correct names in your answer-book along

with the respective serial number of the information used and the

concerned alphabets given in the map as per the following format :

(1)

(i1)

(iii)

(iv)

Serial number of the | Concerned alphabet Name of the
information used given in the map State

(1)

(i1)

(iii)

(iv)

The State to which the Chairman of the Mandal Commission,
B.P. Mandal, belonged.

The State where Bahujan Samaj Party formed its first

government.
The Union Territory which was constituted in 2019.

The State from which the political party Dravida Munnetra
Kazhagam originated.
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g:
(25.1)
(25.2)
(25.3)

(25.4)

= fou U T 1 AemEE iV IR ffiRad Tt o I T

SIS FHIS UTEl o FEAT9eh AdT1 sl A feAfay |

WA o gl I TE ot B 9 2

TS TN o 3Te¥ed, .4l A, YHd & fhg T § Hefeg o ?
2019 | TorH g1 & 1 T34 foRam T o 2

1)

ERIEEIC

p—— O s T e L

o

L - —— A+ d—— =

31 9T hi9-8 T34 <kl <201 &1 3 2

N c ~ (e o
(AR ITH HTH dlHcA sciH

o

e .~ o N
(AL 2ITTH HTH dHA UEdl

o

N [ ~ o (o
(AR 2ITH HATS dHA g%

o

C - o ¢
[Ad{A ZIMH HTH dlHA godH
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The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 :

(25.1)
(25.2)
(25.3)

(25.4)

Study the cartoon given below and answer the questions that follow :

(1)

Name the founder leader of the Bahujan Samaj Party.

Who was the first Non-Congress Prime Minister of India ?

4x1=4

B.P. Mandal, the chairman of Mandal Commission belonged to

which State of India ?

Which Union Territory was constituted in 2019 ?

S
\\“ 2 —

B

S

LU

L,“_. Jr— DO AT ST PSR L B W MR T S S BN T A Mg AP e e § et e TS —

4x1=4

The tiger sitting on the right-hand side represents which

organisation ?

(a)  Liberation Tigers of Tamil Eelam
(b)  Liberal Tigers of Tamil Estate

(c) Liberation Tigers of Tamil East
(d)  Liberal Tigers of Tamil Eelam

Page 17 of 23
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(i) 1983 % &T¢ ficieht § 39U Ted fFAfafea o @ fopg w smafa o 2
(a) |LHR gRI sk aifed & ste dguma
(b) HHR GRI 2 HYSRI o s ¥euTd
(c) UTHR I T &1 o s HewTd
(d) ERR R T g & g 9eHE
(iii) et § o o R H FEfied § 9 -8 %9 I 7 ?
(a) WA 36 THEN ¥ g Tl AN hI3 TEqerd T foha |
(b) YA 4 TIH UsCHY § THE §A i hl el |

(c) WRA 3 #iciehl & HY Tk GG W g&arer fopu 3t gaen &
GHTYM H RS §3T |
(@ TEd % SUH, YRA 3 il & Y A ToHRG oY dIg T |

(iv) SIS 9T Tl <l & ?
(a) i1 6 TR WeR fotidh gHi TIei o o Tqe - | J%d
il

(b) QHI I ThR  foeg o |
(c) UWHR 4 gHT FHGHI < T1Y FHH g foha |
(d) ER fque A1 el o ST= Jqad ST 984 oA o |

Fig:  [AElad J99 F9c GRS Ghemdai & 170 397 G831 26 % T |
g: dx1=4
(26.1) #fiehl H woy o o= o |
(a) Haareﬁ
(b) = &
() & gdf
(d) 2 foemremet
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(ii)  The conflict in Sri Lanka from 1983 onwards was based on which
of the following ?
(a)  Discrimination by the government between political parties

(b)  Discrimination by the government between two
communities

(¢)  Discrimination by the government between two regions

(d)  Discrimination by the government between two religions

(iii)  Which one of the following statements about Sri Lankan crisis is
true ?

(a) India did not interfere in the crisis and kept away from the
problem.

(b)  India asked the United Nations to resolve the problem.

(c) India signed an Accord with Sri Lanka and got involved in
the solution to the problem.

(d) India snapped its diplomatic relations with Sri Lanka
during the crisis.

(iv) What message does the cartoon convey ?

(a)  Sri Lankan government managed to balance the two rival
groups.

(b)  Both the groups were against the government.
(c) The government treated both the communities equally.

(d) It was very difficult to maintain balance between the two
rival groups.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) In Sri Lanka, there was a conflict between
(a) two communities
(b)  two regions
(c) two religions

(d)  two ideologies
59/1/1 Page 19 of 23 P.T.O.



(26.2)

(26.3)

(26.4)

27.

28.

59/1/1

1989 H, Wd 3 et § 9t A, fF=faflad « « fpw s 9@ &
Jr=ard At ?

(a) WRAM I T8

(b) WA IMfrd BT

() W™ 3l gd

(d) dffer 6 IR B4

SficTehT <1 BT o Toeg ol aTel afial @ o TYg 1 AW faRay |
(a) YRAE aba

b) fag (W&das.)

(c) dffcd HIX SHIhH

(d) aHA IS e

RRLICACICE A Lol |

(a)  Tfefeh g AR foehm wTeq femam

(b)  3refedaEdn ¥ fEe gt <t

(c) SHEEA U gig &3l ohl

(d =R A fEe g

wus ¢

gifead @9 & faged & fou SRt fordl 9 sron s fagawo

Hif | 3x2=6
YT

‘se fOrT o YRET B9 & fohegl €I RO 9T 39 3Teld o foheal af

giuTHT <61 fogersor HifST | 4><1§=6

EAAdl % 96 ARG % @AY s TRl dM gAIfGA I IR

HifSu | 3x2=6

reran
oot fmadt (Warel) 1 YRd 99 I i § TR deavyTs 9ed
! YR IR T | foRegl i 3gTeton shl FERIaT § 379+ I
A I | 3x2=6
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(26.2)

(26.3

(26.4)

(a)

(b)

(a)

(b)

=l Wl

In 1989, India sent troops to Sri Lanka, named as :
(a) Indian Peace Groups

(b)  Indian Peace Keeping Force

(c) Indian Peace Workers

(d) Indian Troops for Tamils

) Name the group of Tamils who fought against the army of
Sri Lanka.
(a) Indian Tamils
(b) LTTE
(c) Tamils for Democracy
(d) Tamil United Front

In spite of conflict, Sri Lanka has registered _
(a) rise in its economy and development

(b)  fall in its economy

(c) rise in the population

(d) fall in its trade
SECTION E

Analyse any three reasons responsible for the disintegration of the
Soviet Union. 3x2=6
OR

Analyse any two reasons for the beginning of ‘Arab Spring’ and any

. 1
two outcomes of this movement. 4x1 5 =6

Highlight any three challenges faced by India after independence. 3x2=6
OR

Highlight the role of Sardar Vallabhbhai Patel to bring the Princely
States into the Indian Union. Support your answer with the help of
any three examples. 3x2=6
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30.

59/1/1

T A THTERIE &R TTed o &9 | JUT T hi drehd 1 HoATh
fopegl 9 et @ MMIR W I | 3x2=6
AT

“fafier gwee o STES[g, eV TRET o @t <uI b AN Alhad o
O Td IFh! AHIT B & | Tohedl a1 IUIH I¢e0 dfgad 39

o gfed HIfT | 3x2=6

TIAAA] oh 91G U S a9l H YR ToHITd | Hidd 91dl o 94

fopeal e sh1un <Rt fargeiwor shifg | 3x2=6
HAAAT

1975 U SATTdehIed SIS Shid o Teheal diF ShIUN o1 favaiwor hifsie | 9x2=6
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(a)

(b)

(a)

(b)

=l Wl

Evaluate the strength of European Union as the most effective
regional organisation on the basis of any three facts. 3x2=6

OR

“Despite various problems, the people in all the South Asian
countries share the aspiration and support for democracy.” Justify

the statement with any three suitable examples. 3x2=6

Analyse any three reasons for the dominance of the Congress Party

in Indian politics during the initial twenty years after

independence. 3x2=6
OR

Analyse any three reasons for the declaration of Emergency in
1975. 3x2=6
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